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International GCSE Mathematics

Formulae sheet — Foundation Tier

Area of trapezium = %(a + b)h

[« P >

Volume of prism = area of cross section x length

Cross
section

A/Iength'

Volume of cylinder = 77°h

Curved surface area of cylinder = 2zrh
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Answer ALL TWENTY THREE questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.
1 The table gives information about the amount of crude oil, in barrels, produced per day
by each of six countries in 2015
Crude oil produced per day
Country (number of barrels)
Australia 322300
Congo 269000
Gabon 213300
South Sudan 220000
Thailand 248200
Vietnam 333400
(a) Write down the name of the country that produced the least number of barrels of
crude oil.
1)
(b) Work out the difference between the number of barrels of crude oil produced by
Vietnam and the number of barrels of crude oil produced by Australia.
323400 322 360
AAAAAAAAAAAAAAAAAA I11OG  barrels
1)
Thailand produced 248200 barrels of crude oil.
(c) Write 248200 correct to the nearest thousand.
SZUBOCO. ...
1)
(Total for Question 1 is 3 marks)
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2 The pictogram shows information about the number of books sold in a shop each day
from Monday to Thursday last week.
Monday 20 A0 19 go
Tuesday o 2 55— (S ] LS
Key:
Wednesday 10 1© 2¢> a5 20— 100 represents
20 books
Thursday £ 2e 2 20 5] &<
Friday J 3S
(a) How many books were sold on Wednesday last week?
44444444444444444 00...
1)
35 books were sold in the shop on Friday last week.
(b) Show this information on the pictogram. /
1)
Last week
some books were sold in the shop on Saturday
no books were sold in the shop on Sunday
a total of 500 books were sold in the shop.
(c) Work out the number of books that were sold in the shop on Saturday last week.
SO + 65 t L0 + 85+ 35 = 33S
soo - (335 ) < 1bS
............. &S
3)
(Total for Question 2 is 5 marks)
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3 (a) Write down the mathematical name of this 3-D shape.
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Here is a solid cuboid.

Diagram NOT
accurately drawn

11cm

S 8cm

(b) () How many faces has the cuboid?

(1) How many vertices has the cuboid?

(c) Work out the volume of the cuboid.

[1x 8 x O

OB (Total for Question 3 is 5 marks)
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4 Here is a polygon with five sides.

(a) Write down the mathematical name of a polygon with five sides.

(b) Measure the size of the angle marked x.

Two sides of the polygon are parallel.

(c) On the polygon, mark with arrows (>>) this pair of parallel lines.
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Here are two triangles.

= Diagram NOT
& accurately drawn
P4
(7))
P
2 5 13cm
w cm
E 3 Scm
cm
=
5 ]
=
8 ‘ 4cm X \3/ 12cm
& Triangle A Triangle B

(d) Are triangle A and triangle B similar triangles?
555 You must give a reason for your answer.

AAAAAAAAAAAAAAAAAAAAAAAAAAA no,.. e scale boctar Lenveen. ol Hae siclewo.....

(Total for Question 4 is 4 marks)

5 Matt buys a notebook and some pencils.

The notebook costs $2.35
Each pencil costs $0.74

Matt has a total of $20 to spend on the notebook and the pencils.
He buys the greatest number of pencils that he can.

Work out how many pencils he buys.

6 - 35 = 7?65

1205 +0- 2l = 23-8S...
= 80 &3 pencils

SRE (Total for Question 5 is 3 marks)
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24
6 (a) Write —— as a fraction in its simplest form.

40
B - -é— c _3_.
e o) 5

1
(b) Write 5 asa decimal.

There are only blue bricks and white bricks in a box.
The ratio of the number of blue bricks to the number of white bricks is 3:7

(c) What fraction of the bricks in the box are blue bricks?

(d) Show that §+i = %
3+ 4
8 QUL
x3 (
v 9 -E"L' T l—Q'
a, K Ak
10 . 5  asrequred.
Q. 2

(2)
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There are 280 counters in a bag.
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% of the counters are red.

EA
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3 of the counters are yellow.
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The rest of the counters are green.
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(e) Work out the number of green counters in the bag.
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Jne = L2 280 - (1LO +112)
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(Total for Question 6 is 9 marks)
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7 (a) Simplify 5S¢ x d

444444444 Sed. .
(1)

(b) Solve x+5=12

-5 -5

(c) Solve 9y =3
q < q

(d) Simplify 8k + 5m — 2k + 6m
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(e) Expand 4(3g+ 1)
A_ X 38 e 1;23
Lkxl = L

(Total for Question 7 is 6 marks)
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8 Pavel asked 60 people at an airport where they came from.
All of the 60 people came from Europe or Africa or Asia.
9 people came from Africa.
14 females came from Europe.
3 males came from Africa.
16 of the 29 males came from Asia.
Using this information, complete the two-way table.
20a-19
~N Europe Africa Asia Total
Male 10 3 A 29
Female lL{_ E [l 3] ‘Za.gq
2 Q%
Total
ota /n &,L{ ' / q GO
10 tiL q-%
(Total for Question 8 is 4 marks)
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9 c=4
d="1
)
(a) Work out the value of 3c + 2d o
zZ
(@)
-
el ¢« 2Ax? =
=
= La_ + IL[- 2
=
£
{7
=
<<<<<<<<<<<<<<<<<< 2| B
(2) ;s
p=-"6
m=-2
(b) Work out the value of 2p* + 3m 5
-
2 S
Qe (-b) "+ 3 x(-2) .
= dx 3b-6b <
444444444444444444444 é?b g
) :
There are 6 eggs in a small box of eggs. /
There are 12 eggs in a large box of eggs. » ;
Alex buys g small boxes of eggs and % large boxes of eggs. v%
He buys a total of 7 eggs. 5 \
(c) Write down a formula for 7 in terms of g and 4. 5
T - 68 + 1dh
444444444444 a(aguxulo?h
3)
(Total for Question 9 is 7 marks)
.
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10 (a) U lculator t k out the value of 07.8 + 4.6
a S€ your calculator to work ou evalue or ——F———
Y J56

Write down all the figures on your calculator display.

KK
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: (2)
/ (b) Give your answer to part (a) correct to 2 significant figures.
1d
1)

(Total for Question 10 is 3 marks)
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11 A circle has radius 18 cm.
Work out the circumference of the circle. ZEE‘U
Give your answer correct to 3 significant figures. =)
O
r=18 D= 3b =
3
:3:;
C = IT X BL E
o=
L
- 7
- [l%'oq‘Q-.- >
b~ )
m
>
AAAAAAAAAAAAAAAAAAAA ] 13 cm
(Total for Question 11 is 2 marks)
- )
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12 Gavin bought 3 pairs of jeans in the USA.
He paid a total of $72

Gavin sold the 3 pairs of jeans in England.
He sold each pair of jeans for £34.50

£1=951.34

Work out Gavin’s percentage profit.
Give your answer correct to the nearest whole number.

DS M UK.
$31 34:50x 3
13 = £10635 S0

= £.53-73
Poft - 103-S0 - 5393
= 4937

T = 4937 x 100
$3-33

= Q3.56..

kagg, nume))

(Total for Question 12 is 4 marks)
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(a) On the grid, reflect the shaded triangle in the line with equation y =2
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s (Total for Question 13 is 5 marks)
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14 The numbers from 1 to 14 are shown in the Venn diagram.

&

(a) List the members of the set 4 N B

(b) List the members of the set B’

A number is picked at random from the numbers in the Venn diagram.

(c) Find the probability that this number is in set 4 but is not in set B.

(Total for Question 14 is 4 marks)
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15 Toy cars are made in a factory.
The toy cars are made for 15 hours each day.
5 toy cars are made every 12 seconds.

For the toy cars made each day, the probability of a toy car being faulty is 0.002

Work out an estimate of the number of faulty toy cars that are made each day.

S - 1d seconao

S x S
* \é 1;25 - imu’l l [2
)
wolisco = he e b
L xS

X\S\C 2500 = 1Shows

Eobimeda, :  0-003 xASCO

(Total for Question 15 is 4 marks)
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16 On the grid, draw the graph of y =7 —4x for values of x from —2 to 3

X -3 x= 3

<:fj s -:? - l{- )('-1;2 < -:z - l*‘ X :E;
:?-&8 = q“la
v4 = -

=15

14

12

10

=V

(Total for Question 16 is 3 marks)
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17 Here is a list of six numbers written in order of size.

5
2
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A

The numbers have

HIS

a median of 9
amean of 11

552

9583
XXX
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920

R

Find the value of x and the value of y.

X
KRERX
R

XX

medeon of 4 means oc =3

B R

o
XX

mean € |1 meano el = 66

be - [ 4+ tr 8 +10)
= b6-49
37

- 3
18-S

Cc

(Total for Question 17 is 4 marks)
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18 (a) Write 5.7 x 10~ as an ordinary number.

L.0:0087 . §
(1) S
(b) Write 800 000 in standard form. §
m
444444444444 gx10° |2
1) i
>
Work oy 3X10° =27 10" ‘E
(c) Work out %102 %
Lx 162 Sk
/4
6
= LSSOCOO L:SSA 187 .
(2)

(Total for Question 18 is 4 marks)

19 A rocket travelled 100 km at an average speed of 28440 km/h.

Work out how long it took the rocket to travel the 100 km.
Give your answer in seconds, correct to the nearest second.

X,
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X XXX, 90%6%¢ \
SGREIRRKRKIIRRARXRKY e

Q8 Lud bm = ALC0S

T 284Lu0
T8uLo | on = 61265 %
x (OO L’ LOO R = Ii-&,g &. L A 1OO
necuest deccnd
.................. l3 seconds

(Total for Question 19 is 3 marks)
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20 (a) Solve 5(4 —x)=7-3x
Show clear algebraic working.

20 -5z = - dx
+ Soc. + Soc

3
o= 13
2

(b) Factorise fully 16m’g® + 24m?g’

(ii) Hence, solve y*—2y—48 =10

[.5-& A)L‘j -8) =06

(¢) (i) Factorise »* —2y 48 LuB 2,24 3b 4,12 b8

(Total for Question 20 is 8 marks)

6-8

(’d-}:é)[a"g) ...........

(2)
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21 Here is a 10-sided polygon.

Diagram NOT
accurately drawn

Work out the value of x.

luno - 1302 < 198
36@“53 c QAL

(Total for Question 21 is 4 marks)

24

P 6 2 6 5 0 A 0 2 4 2 8

Y34V SIHL NI 3LIYM LON Od

8
KKK

R
DRI
XXXX

.M\
‘od.

X
’Q“

QIR
M LON

00K
RRL
]

T

355353 SREREERR

N

o9
%)
%5



5 )
X

<
<

22 In a sale, normal prices are reduced by 20%
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A bag costs 1080 rupees in the sale.
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A

Work out the normal price of the bag.
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(Total for Question 22 is 3 marks)
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23 4= 2 x 3% S
B=16 x 3% 5
(a) Find the highest common factor (HCF) of 4 and B. g

=

Q43 =

A 3 (;2 X R
:3:;

L 31 %

B -aA%«d 3
i

A

B

b~ )

m

>

(b) Express the number A x B as a product of powers of its prime factors.
Give your answer in its simplest form.

Axb = Q x3%°x Q% x 3%
25 x 3%

(Total for Question 23 is 3 marks)

TOTAL FOR PAPER IS 100 MARKS
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